


31 1

30 5
|
25 4,050 / 30
182,186 / 24 487,500 / 30
65 6,912 / 25 6,950 / 30
|
H25 H27 H30
2,889 / 3,000 / 4,050 /
s x5 x2 /
182,186 / 182,186 / 487,500 /
24
65
6,912 / 6,912 / 6,950 /
4,139.7 4115.8 - 23.9 - 0.6%
H26 H27 H28 H29 H30 B/C
1-A-1 4,115.8 -
4,115.8 -
| |
| H26 | H27 | H28 | H29 [ H30
0
H26 H27 H28 H29 H30
1-C-1 0.7
1-C-2 5.8
1-C-3 4.7
1-C-4 1.4
1-C-5 4.2
1-C-6 2.1
1-C-7 5.0
23.9
1-C-1 A-1
1-C-2 A-1
1-C-3 A-1)
1-C-4 A-1
1-C-5 A-1)
1-C-6 A-1
1-C-7

[ I
[ H26 T Ho7 | H28 | H29 | H30 |




C-2

C-3




H26 H27 H28 H29 H30

. 173.4 214.8 660.5 465.6
0 0 0 0

b
c=ath 173.4 214.8 660.5 465.6
d 0 119.945 0 112.238
53.455 331.696 548.262 515.892

e
f 119.945 0 112.238 61.946
0 0 0 0

g

h = crdeef 0 3.049 0 0
0.0% 0.9% 0.0% 0.0%

(h = (g+h)/(ctd)
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